Chemistry Name
Write the formulas for the reactants, predict the products and then balance the resulting equation.
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magnesium + oxygen >

aluminum + hydrochloric acid >
sodium oxide + sulfur dioxide >
phosphoric acid >

sodium chlorate -

zinc chloride + ammonium sulfide
zinc sulfide + oxygen >

calcium carbonate =
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mercury IT sulfate + ammonium nitrate
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iron + copper II sulfate -
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. zinc + sulfuric acid 2
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. dinitrogen pentoxide + water ->
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. chlorine + magnesium iodide >

—
E-N

. potassium + water -
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. iron + hydrochloric acid -
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. cobalt III hydroxide + nitric acid >
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. bromine + sodium iodide >
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. sodium hydroxide + phosphoric acid >

—
\O

. ammonium sulfate + calcium hydroxide >

)
o

. silver nitrate + potassium chloride -
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. magnesium hydroxide + phosphoric acid >
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. iron IT sulfide + hydrochloric acid -
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. ammonium sulfide + iron II nitrate >
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. sulfuric acid + potassium hydroxide >
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. aluminum sulfate + calcium phosphate -
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. barium carbonate + hydrochloric acid 2>
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. silver acetate + potassium chromate =
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. ammonium phosphate + barium hydroxide -
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. chromium III sulfite + sulfuric acid 2
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. calcium hydroxide + nitric acid >
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